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3,8,11, 19,30, ? i. 3,8,11,19,30, ?
(A) 35 B) 49 (®) 35 (@) 49
(C) 46 (D) 38 () 46 (@) 38
The sum of first 100 natural numbers ? 2. el 100 wiepfas Het ?ﬁ_ ﬁ- :
(A) 5025 (B) 5052 (%) 5025 ) e
©) 5050 D) None (7). 5050 () &
' 3. s & 80 Fll/ger &t fa & == 21 Ae wl
A car moves at the speed of 80 km/hr. What is the A3 N e R F A 2 .
speed of the car in meters per second ? (#) 8 Wey/Ads (@) 2019 AeV/AFS
(A) 8m/sec B) 20 1/9 m/sec (1) 28.5 Hew/ s @) = 78
(C) 28.5m/sec (D) None
4. FUA : FS TE VHY 2 | T TFE S09H @M B
Statement : * Some singers are rockers. All rockers R
are Westerners. =g —
Conclusions -~ . &9 Asd THF 8
I.  Somerockers are singers I %o ufREd ot & UHH B
I. Some Westerners are rockers 1. . %& T ufea 3o & 2
III. Some singers are Westerners V. % s e Qo # 48 2
IV. Some singers are not Westerners (%) 1,11 < 198! 8
(A) I Iand III follow (@) I, 1a IV 8
B) I,Mand IV follow (m) IITe I19E 8
(C) Mand I follow () LIIT IV &6 8
(D) LIIandIV follow
: 5, AT A @I RN A= RIIRTH
A woman introduces a man as the son of the brother ®q ¥ oRfq s 9% el 5§ @ @ 9
of her mother. How is the man related to the woman ? Heifta 2 7
(A) Nephew ®) Son () e (@) e
(C) Cousin (D) Uncle (m) ==T ST () ==
AYBZC,DWEXF, GUHVI, JSKTL, ? 6. AYBZC,DWEXF, GUHVI, JSKTL, ?
(A) MQORN (B) MQNRO (%) MQORN (@) MQNRO
(C) NQMOR (D) QMONR (M) NQMOR () QMONR
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Directions :— The following Table represents the export

of wheat and import of sugar in various
years. Read the table and answer the

questions given belowit :
Year Export of Wheat | Import of Sugar
(in crores of Rs.) | (in crores of Rs.)

1979-80 44 58
1981-82 45 50
1983-84 60 54
1985-86 56 60
1987-88 92 68
1989-90 100 78
1991-92 68 60

7. During which period was there maximum rise in
export ?
(A) 1985-86 (B) 1987-88
(C) 1989-90 D) 1991-92

8. The percentage of increase of imports in 1989-90
over 1987-88is:
A) 1.47% B) 14.7%
(C) 17.4% D) 20.0%

9. In1981-82 the ratio of export to the imports is :
A) 9:10 B) 10:9
(C) 14:15 D) 15:14

10. Dmingwtﬁchperiodwastheremaxhnmnincmasem
import over its preceding year ?
(A) 1983-84 (B) 1985-86
(C) 1987-88 D) 1989-90

11. During which period was there minimum increase in
import over its preceding year ?
(A) 1985-86 (B) 1987-88
(C) 1989-90 (D) None

X-00

ffer — Fre oo RfET ast § g 1 Fraid s

10.

11.

?ﬂﬁmmm%]aﬁaﬁrqﬁaﬂw:ﬁ%
fow gl & gax o -

atf W% w1 Prafe | A @ ST
@5 T ) | (@8 aW H)
1979-80 44 58
1981-82 45 50
1983-84 60 54
1985-86 56 60
1987-88 92 68
1989-90 100 78
1991-92 68 60

g ety & draa Prafa § sftead afe g2 7
(F) 1985-86 (@) 1987-88
() 1989-90 (|7) 1991-92

s & gfg #1 AR 1989-90 & 9T 1987-8
2.

@) 1.47%
() 17.4%

(@) 14.7%
(=) 20.0%

1981-82 ¥ Frafq 1 @@ ¥ A 2
() 9:10 (@) 10:9
(M) 14:15 (&) 15:14

Py e B 2T T et o 1 g ¥ I
R e
(%) 1983-84
(T) 1987-88

(@) 1985-86
(a) 1989-90

o s A ot g ad o g ¥ o

¥ =gaw gfg gd M ?

(%) 1985-86 (@) 1987-88

() 1989-90 (=) A FIE ALl
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12. Interaction inside the classroom should generate: | 12. & 3 sfex ZCTHA IaeA BT =T ¢

(A) Argument ®) Information () ™ | (@) g F:
 (C) Ideas D) Controversy (m) fEmE (%) fam
13. The success of a Teacheris : 13. UF P T qRCC 8
(A) Highachievementof students (@) oA H I REGIE]
(B) Good traits of his/her personality (@) IEH/ITH A F TS TEHA
(C) His/her good teaching () IgH/IEH =BT fRrefor 15
(D) His/her good character (a) IgH/ITH A= =
14, Effective teachingincludes : ' 14, Tod Rieor ¥ e
(A) Teacher isactive but students may or may not (%) T wiHa 8@ 8 AffT 313 GERSall
be active g € a1 TE B AR 8
(B) Teacher may be active or inactive but students (@) Rrers i Fifsea & g & ad B 19
are active ' iy :
(C) Teacheris active and students are active (r) T @fHg @9 & AT BA & =%
(D) Allofthe above situations (&) S § feuf

15. The Kothari Commission Report on Education was 15. e T FEY AT B Rife &1 figs 2 .

entitled as : (w) far R Tl faww 2(
(8) Educationand National Development (@) sftnrer BT

(B) Learning ‘tobe’ ; 5| (m) farem 1 R

(C) Diversification of Education (@) =it & fore fwe

(D) Education forall | -

16. T R P e & @l w A T B FED
16. A teacher needs to study philosophy of education 2 i

because of : &) e B T 9w fawed ®
(A) Understanding they inherited in philosophy (@) & s ¥ R B & A1
(B) Being acquainted with abstract knowledge () regER & e A Il F =T
(C) Setting aims and objectives of curriculum (=) fveror eI 1 Prifm v@ 3 fog e
(D) Getting ideas to control teaching behavior g wAT
X-00 | 4 I Paper-I



Teaching would be more effective if the teacher :
(A) Makes his intent purposeful
(B) Is master of the subject

(C) Uses various instructional aids
(D) Declares his objectives in the beginning

School can be called a social agent if :
(A) Ittransmits knowledge

(B) Iteducates about rights and duties
(C) It imparts knowledge about traditions and
values '

(D) Itorganizes various activities
Probability Sampling implies ?

(A) Stratified random sampling
(B) Systematic random sampling
(C) Simple random sampling

(D) All oftheabove

- The father of analysis of variance (ANOVA) is :
~ (A) Karl Pearson B) Galton
(C) Spearman (D) Skinner

Identify the correct order in which research process
should be followed ?

i  Collection of data

i.  Identification ofa problem
iil. ~ Testing the hypothesis

tv.  Formulating hypothesis

v.  Drawing conclusion

(A) ii,1,1v,iii, v

(B) ii,iv,i,iii, v

(C) w.i,ii,iv,iii

D) w,i,ii, iii, iv

)0

17,

18.

I9.

20.

21.

freror fte gy & wmar afe Rrers
(F) vt TOx IewEqel e 2
(@) s faww +1 wmr 8

(w) fafe e IuFe w1 I FIT B
(7) ge3d H U Ieedl H OIS FIAl B

T Tk QIS ST el ST qehdl 8 Ufe

() g8 W YER H

(@) u& sl IR weiedl & @it H Rfdia wY
(T) @& IR AR qA & TR H 7 TG B
(7) s Rfe nfoffe &1 s w %

FHEAT AHA H AH ©
(%) =iga THas T
(@) =wafeam agfa® T
(1) u ughEH THAT

(7) v ah

Ry & fredrsr () & far

(®) et s (@) freeq
() s () Rex

HTHAT DT GHAT H FAHW HA S Fol F9 H
Wﬁﬁﬁm

i Sfiewsl &1 9Us

i §HRT H gEEE
il AReeTAT Tler
v IR&SEIAT R ST

v. T fafya &
(&) ii, 1, iv, iii, v

(@) ii,iv, i, iii, v

(M) i, i, v, di

(&) v, 1, ii, iii, iv

Paper-1




22.

23.

What is the purpose of research design 2
(A) To control variance
(B) To control variable

- (C) Capability to answer problem

(D) Ability to generalize

Cross-sectional research is sometimes used in place
of :

(A) Longitudinal survey
(B) Short-term survey
(C) Comparative survey

(D) Correlational survey

Read the following passage and answer the
questions (Q. No. 24 to 28) given below :

It is an old saying that knowledge is power.
Education is an instrument which imparts knowledge
and, therefore, indirectly controls power. Therefore,
ever since the dawn of civilization persons in power
have always tried to supervise or control education.
It has been the hand-maid of the ruling class. During
the Christian Era the ecclesiastics controlled the
institution of education and diffused among the people
The gospel of the Bible and religious teachings. These
gospels and teachings were no other than a
philosophy for the maintenance of the existing society.
It taught the poor man to be meek and to earn his
bread with the sweat of his brow, while the priests
and the landlords lived in luxury, fought duels for the
slightest offence. During the Renaissance, education
passed more from the clutches of the priests into the
hands of the princes. In other words, it became more
secular. Tt was also due to the growth of the nation
state and powerful monarchs who united the country
under their rule.

Thus, under the control of the monarch,
education began to devise and preach the infallibility
of its master, the monarch or king. It also invented

X-00

22. Ww%&mwmm%?

() frarcor Prafx w

._(@')a"«:ﬁ'dﬁﬁaw

() FEEIT T GEIGT HEA Dl GHAT
() W FXA AT A

23, wia-fsmie sga FH-F R
g B B | |
(&) srpeed adem (=) -3l & qae
(m) goeTEs gdew  (9) wedsfia wae

ﬁmﬁﬁaﬁmﬁuﬁqﬁtﬁ%ﬁqﬂquﬁz
(srﬁamiﬁzﬁrzs)%m-aﬁq:

az:%gﬂ'—ﬁw%%aﬁwama
fven TF YT WEA § A W e H § T
e T w § WAl ) PEE I E | I e
%mwﬁwwwﬁ@%ﬁmﬁaﬁi
e Rrem &% Frroe @ BEEw w0 H N 2
| EIEE A ST AT A TR
Ao il foren geer A Profe R & AT A
A AFR ¥ | TE GEAER AT e AN B
yemar AR FH AR q W AN N @
g & g ar| U8 The s # AG e
F agd A F TR F sEet I fog T
A A fer ¥ o S gerd AT TRER
- ¥ W 7, oy sy & fog o
Fogg FER A | TAER F A, foremr
qreRdl, e $ W § T (Princes) ®
st 3wl F R T | gEL T A T A
s adPrRAE 99 T | 98 UG o0 B faEE
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24,

25.

26.

X-00

and supported fantastic theories like the Divine Right
Theory and that the king can do no wrong. With the
advent of the Industrial Revolution, education took
a different turn and had to please the new masters. It
now no longer remained the privilege of the baron
class but was thrown open to the new rich merchant
class of society. Yet education was still confined to
the few elite. The philosophy which was in vogue
during this period was that of ‘Laissez Faire’
restricting the function of the state to the mere
keeping of law and order while, on the other hand,
in practice the law of the jungle prevailed in the form
of free competition and the survival of the fittest.
Now answer the questions :

During the Christian era who controlled the education
system 7

(A) Thegovernment

(B) The common people

(C) The church and the priests o

(D) Themonarchs

What does the hand-maid of the ruling class mean ?
(A) Private maidservant of the prince

(B) Mistress ofthe prince

(C) The economy under the authority of the prince

(D) Something fully under the control of the ruling
class :

Consider the following statements : 26

(I)  During the Renaissance, education became less
secular.

(I Under the laissez faire approach it was believed
that king can do no wrong.

Which of the statements given above is/are correct ?
(A) Only(D)

(B) Only (D)

(C) Both(I)and (II)

(D) Neither (T) nor (IT)

25.

A wfaemel Tore) 2 svA WA @ dgq o

BT THIFT fRar R Igd For S o7 |

W IHR FHIE F s § fem # e T,
YIE T TN & IYRT H7 989 A J2GR FE B
g gE o s i e g & a@
Iegee frgidl 1 sfaser i gAef fen ok 0
gafia fear & T #E Ted A8 #X aFan
AR Hifa & M= & g fren 7w s 9%
o forn @ AQ gt w1 ogw fear) ww s
SA/AaE a1 RS 997 78 W@ W any
e ot forem anft off 5 sfowma af & g difg
A1 9 A A qEAeed # IewdqY w1 Ra
T & FFA Uaedqr a& diffg Fear a1, s\t
a3 FFer § ST FAA @aA gannar AR
IrggH F ITEEAT ® &Y § yeEfad o1
#T JEA F IJAT T -
R I B A e gl & A Prafa s
a7 7
(F) TR
(m) =< M g

(@) sm sl
(%) wwTe

B E L D B A L

(&) TFRAR H A Rl

(@) TTHEAR H AAHA

(1) TEHAR F IRER F dEa srferaen

(@) 38 % ¥ www @t & e ¥ g s

. freafefes w0t ox A =0 -

@O gASTe & A, e w5 adErde & 18

() IET IUNH F qBd Y8 AT T o1 B
TS F TeHd T& HT Fefel |

SYYH FEAT H BA-I T G B 7

(7) Faa ()

(@) ot (1)

(M) @ 3 (1) A=

(@) T @I T AN
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28.

29;

30.

31.
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Whom does the term ‘infallibility’ refer to in this
passage ?
(A) Kings
(C) Priests

- (B) Scholars
(D) Social Reformers

Which one of the following is the correct statement ?
(A)

The poor man was thought to be beloved of
the God _

It was thought that the poor man must earn his
bread by hard work

Approach of survival of the fittest prevailed
Function of the state was confined only to

governance

®

©
D)

All India Radio before 1936 was known as :
(A) Indiaradio broadcasting

(B) Broadcasting service of India

(©) India broadcasting service

(D) AllIndia broadcasting service

Which one of the following can be termed as verbal
communication ?

(A) Prof. Sharma delivered the lecture in the
classroom : ;

Signal at the cross-road changed from green
to orange

The child was crying to attract the attention of
the mother

Dipak wrote a letter for leave application

B)
©
D)

Arrange the following new media facilities

chronologically :

L Twitter ii  Hotmail
. YouTube iv.  Facebook
(A) ii,i,1it, iv

B) i, i, iv, i
©

(D)

ii, iv, iii, 1

1, iii, iv, 1

L2

28.

29.

30.

31.

W T H 9E = SEY a7
(%) s (m) fagrAt
(T) gemreEr =) AW gEEH!

e s I s == =587

(@) e e wEE = o= T 9w Y

(@) gg dr=n S a1 = ToE SEE # Fel AeAd
I ITAT VLT FfEe =747 TRy

(1) drmew @ ST RE = I9E yEkE o

(@) T % FE AEA oF & S8 a1

Jfer s WA 1936 F ==
AT ST |

(F) W 1 AsAr g
(@) wRAT yErRer &

(M) AT A YER Fa

() sfeer wRdlg gao a1

FETH

57 ® § F9-1 & 9 2= =7 59 #8 o

qHar & 7

@) o ol A wen ¥ e Ew

(@) N W Reaa aroh § 22 @ F sqa ™

() w=E Al FOAE AHNG S F o O @
oIy

(@) Qw3 g A o F frg 7= B

Preafifs ¢ e gRwst =1 FoEeAmER
AT HU

L E\Eﬂz_{ iL HER
(%) i, i, iii, iv
(@) ii, i, iv, iii
(M) i, iv, i, i

()

i, iii, iv, i
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32. IfFDRIVER=T76= ~d TRUCK =73, what would
be MOPAD ?
(A) 45 ®) 55
(C) =% D) 59
33. Which of the followng is not a means of mass
COmmEESCsNoe -
(A) Tcewsam (B) Cinema
(C) Tceghnes (D) Internet
34, Feedrack moms=mim
(A) Terpersonal communication
(B) Messc scsmmmication
(C) Geomp cosmmmunication
(D) AlofSczbove
35, Giving mom-weroal message 18
(A) Spost=scous B) Tutored
(C) Adcamstx ski (D) Deliberate
36. Exchusive scacational channel of IGNOU is known
as:
' (A) GyemDashan (B) Gyan Vani
(C) DeesDarshan D) Prasar Bharathi
37. Thessmef Nasional Council for teacher education s :
© (A) Toogencollegesof education
(B) Togromoteresearch in education
(C) To—=m=znstandard’sin colleges of education
(D) Toorowide grant to colleges of education
38. Whichoieh wﬂ_o\xingisnottl'lcmainﬁmctionof an
(Ay Teachng (B) Research
(C) Puablication D) Extension work
X-00

32.

13

35.

36.

31,

38.

sz DRIVER = 76 3T TRUCK = 73, MOPAD
a7 B 7
(m) 45

() 49

(@) 55

(&) 59

ﬁﬁﬁw’fiﬂﬁﬁﬁﬁ?—maﬂwmmmqﬁ%?

() Sehfasr (@) RrEw

() AR (9) FTT

() $ex =feT §ER (@) SHAEAR

() W §AX () S @

(¥) TR (@) S (Tutored)

(m) Fedy e (F) SrgE
[GNOU @1 fad fafie 476 Gﬁaﬁﬂ g
(F) = @A (@) s arh
(m) e () TS

ﬂw@uammﬁﬁrww&&qaﬁﬁw%

(@) frem & ehfort @rerT

(@) fare ¥ sEE B @1 O

() ﬁww%mﬁwﬁmw
() farer & rorel @1 AT WG DT

rerfag § & -G T fqwEEEeR B A
i g 8 7

(F) "o
() e

(@) Fggar
(w) wE famm
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40.

41.

42.

43,
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What is the special constitutional position of Jammu
and Kashmir ?

(A) Indian laws are not applicable

(B) Itisabove Indian constitution

(C) Itisnot of the integral parts of Indian union
(D) Ithas its own constitution

Which one is the highest order of learning ?
(A) Chainleamning '

(B) Problem-solving leaming

(C) Stimulus-response leaming

(D) Conditioned -reflex learning

Workshops are meant for :
(A) Giving lectures

(B) Multiple target groups
(C) Showcase new theories

(D) Hands on training/experience

A does a work in 10 days and B does the same

work in 15 days. In how many days they together| 42
will do the same work ?

(A) 5days (B) 6days

(C) 8days - (D) 9days

The Yashpal Committee submitted its reporton :
(A) Reforms in Higher Education
®)

Reconstruction of Administrative System in
Education
Renovation and Rejuvenation of Higher

Education

Establishment of Foreign Universities

©)

D)

10
L

40.

41.

43.

e e — — —

)
7
'™

()

() & wRE/AgHE

ATH w1 B 10RT ¥ %= 2 =9 B F
15f & Fear 3 | fraa BT S == 271 Mo I
w1 1 FAT 7
(%) sfe=
(M) 8fe=

ap

(@) 6/

(®) 9%=
g afafy ° s fRdfe s
&) at—zrf@rwffgaﬁ

(@) R & gerafe gomel & gAE
(1) S=a fien & FdEO AT FEIFA
(w) faeeh fawafammml o1 weT
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45.

46.

47..

48.

49.

Which of the following qualities is most essential for
ateacher ? =

(A) Allow students to do what th¢y like

(B) Deal with the students strictly. .

(C) Give the students some problem to solve
(D) Deal with them politely and firmly

Conversing with the spirits of ancestors is termed as :
(A) Transpersonal communication
(B) Intrapersonal communication
(C) Interpersonal communication

(D) Face-to-Face communication

Under which law it is prescribed that all proceedings
in the Supreme Court of India shall be in English ?

(A) The Supreme Court Rules, 1966

(B) Article 15 of the Constitution of India
(C) Article 348 of the Constitution of India
(D) A legislation made by the Parliament

The first state in India which was created on linguistic
basis : :

(A) Gujarat (B) Kerala

(C) Haryana (D) AndhraPradesh
“Women are closer to nature than men”. What kind
of perspective is this ?

(A) Realistic (B) Essentialist
(C) Feminist (D) Deepecology

The number of open universities in India is :
A) 43 B) 54
©) 42 (D) - 44

44.

45.

46.

47.

() #rwm

48.

49.

Freafofeg o ¥ ¥ F9-71 TF few & g gl

S UL

(F) BET B ITH THT F FE FA D ALAR
£ _

(@) B ¥ F&i HT GABIR HIAT

(1) BE BT BT F B 0T TP GHQAC AT

=) sE # @ fFAma R Fesa &1 gaer
HTAT

qdell T IAMCAE F WY ST b el Wl §
(%) giaeEAd (Transpersonal) §21X

(@) SeadAd (Intrapersonal) X

() wEERE §9R

-

(%) o E_—;T-TIEHT

9 =7 & gec 98 Maig & & a3 9vuaw
e ¥ o sEarted e § gl ?

() giw =1 & Fram, 1966 % ded

(@) WG & wiauE & Feed 15F d&d

(M) 9T & WREEE $ FTO% 348 F TqEd

(9) ©EE g FAIC T FT & &

NG FT Ysell =g ST 9T SMER U §97197 T4
T

(%) Torad (@) #

(%) srg gew

‘Aigend ges A gort F w1l 8 WA e
YT T qiRoed 8 7

(%) Tomdardl

(@) sraggeRraral (Essentialist)

(m) AT

(=) Ml wiikRufaet

wXd § Ao favafaamedt o @ @ o
(®) 43 (@) 54
() 42 (=) 44
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50.

51.

52.

53.

54.

33

(A) Tuberculosis

56.

X-00

Computer virusisa:
(A) Hardware
(C) Software

(B) Bacteria
(D) None ofthese

TCP/IP is necessary if one is to connect to the :
(A) Phonelines (B) LAN
(C) Internet (D) Server

Which of the following is correct ?

(A) Modem is software

(B) Modem helps in stabilizing the voltage

(C) Modem is the operating system

(D) Modem converts the analog signal into digital
signal and vice-versa

Web camera is used for Video
(A) Conferencing (B) Security
(C) Control Input Device (D) Allof the above

Which of the following is an example of
Web browser ?

(A) Yahoo
(C) MozillaFirefox

(B) Google
D) Gmail

Identify from the following the disease which is

independent of pollution :
(B) Bronchitis
(C) Hepatitis (D) Gastroenteritis

GPS is a system that helps in locating positions with
the help of :

(A)
B)
©)
D)

Microwaves
Satellites
Police Intelligence

Wireless Communication

12

T

50.

ol

52.

53.

54.

56.

FFYCT IAH TF B ¢

(F) Frsamx (@) sharg

() |rEeTEY (@) = § 18 A
TCP/IP ¥19%5& 2 3% UF < &1 H49¢ 11 8
(&) @ aE (@) LAN

(M) ge@e CIRKERS

Prafofas ® & SF-a1 =291 2 7
(@) #iew wiFeIgR 2
(@) #isw dies Rox wEd F weg w3l B :
() W SRR R 2
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